0000000000 moooooooo 20020 120 50 (0)OO

(1000000000

3z + 1
W2 gpooooooo
1 — 222

(2) Vzlog(l+42) 000000000

000000000 00O0Ooooon

(Uﬂ@:xmmDDDDDf%gﬂﬂﬂﬂﬂ

(2) tan~* (log |cos(1 —2?)|) 000000000

(3) 0000000000000 000000OU000DO0ODO0OUOO0O0ODO

1
) =———, -l<z<1

V1I—22

(cos™*

(4)00000000000000f(z)=2%0 nO0000 f™(z)00000

(5) fl) =23 —222+2+1000000000000000=0000000000000000
ooo

(6)00D0 00000
3* =27
x—0 €T

3] OO

f(z) = e " cos2x
gpoooooobooon
ﬂ)x:gDDDDfDDDDDDDDDDDD

(2) x=r0000 fO000OUDOOOOOOOO

(3 fO00O0DOUDOOOODODOOOUD



